BOARD OF SUPERVISORS

MADISON COUNTY, MISSISSIPPI

Department of Engineering Tim Bryan, P.E., County Engineer 3137 South Liberty Street, Canton, MS 39046 Office (601) 790-2525 FAX (601) 859-3430

MEMORANDUM

August 19, 2022

To: Sheila Jones, Supervisor, District I Trey Baxter, Supervisor, District II Gerald Steen, Supervisor, District III Karl Banks, Supervisor, District IV Paul Griffin, Supervisor, District V

From: Tim Bryan, P.E. County Engineer

Re: Permission to Subcontract SAP-45(61) Heindl Road Bridge Subcontract Requests

The Engineering Department requests that the Board allow Fordice Construction Company to subcontract work to the following subcontractors:

- Hope Enterprises, LLC.
- Atwood Fence Company, Inc.
- Franklin Paving, Inc.
- Lane Line, LLC.
- Traffic Control Products Company, Inc.

and to authorize the Board President to sign State Aid form (FAS-S.A.) SC-1 for each subcontract.

GERALD STEEN District Three KARL BANKS District Four PAUL GRIFFIN District Five

Form (FAS-S.A.) SC	-1
(Submit 6 copies)

Board of Supervisors		Request No.	One (1)
Madison	County	Project No.	SAP-45(61)
and			11 2027
Office of State Aid Road Co	onstruction	Date Augus T	16.2022
Mississippi Department of 1	Fransportation		

Gentlemen:

I (we) (the prime contractor) (persident of propose to subcontract the following items to

Hope Enterprises, LLC

in accordance with Special Provisions in our contract governing subletting a portion of the contract. In the event of your disapproval of this subcontracting or of your disapproval of performance of such subcontractor at any time, I (we) agree to perform such item or items of work with my (our) own organization in full compliance with all applicable terms of our contract. I (we) understand that this procedure does not relieve us of any of the responsibility under our contract.

I certify that said party is particularly experienced and equipped for such work and that the attached subcontract is the sole agreement for the work and that all pertinent provisions and requirements of the contract have been explained to this proposed subcontractor, and that when applicable, federally required contract provisions are physically incorporated into the agreement furnished to the subcontractor.

The prices shown below are the prime contract unit prices:

Spec. Pay Item No.	Item	Quantity	Unit		Prime Cont. Unit Price	Amount
S-200-A	Mobilization	1	LS	_ \$	* 1,500.00	\$ 1,500.00
901-S-212-A	Agricultural Limestone	2.530	Ton	\$	400.00	\$ 1,012.00
S-212-B	Commercial Fertilizer (13-13-13)	1.270	Ton	\$	1,750.00	\$ 2,222.50
S-212-F	Ammonium Nitrate	0.127	Ton	\$	1,500.00	\$ 190.50
S-214-A	Seeding	1.267	Acre	\$	1,500.00	\$ 1,900.50
S-215-A	Vegetative Materials for Mulch	3.800	Ton	\$	400.00	\$ 1,520.00
				\$		\$

* Only that portion subbed to subcontractor. See attached breakdown of Mobilization.

I (we) hereby certify that the persons or firms are designated hereon as subcontractors with the knowledge and consent of the persons or firms named.

Date	rgest	16		, 20	22	
FORD	CE CONSTI	RUCTIC	N COMP	ANY		
	Prime	Contracto	1			
Ву:	57.	h	, P	resider	it	
Address: F	P.O. Box 110	01, Vick	sburg, MS	3918	1	
Approval recommended	d:			, 20	22	
	C	\sim	/			
	County	/ Englinee				
Approved: Board of §	Supervisors	<i>U</i>	Madison	c	ounty	
(By order of t	he Board, d	ated				_)
Ву	í					-
			President			
Approval recommended	d:			, 20	22	
	State Aid D	istrict Eng	ineer			_

Total this Request	\$ 8,345.50		0.94	%
Previous Request	\$ 0.00	=	0.00	%
Total to Date	\$ 8,345.50		0.94	%

I (we) hereby certify that the use of our names as subcontractors on the above items was, and is, with our knowledge and consent.

Date X AUGUST 11	, 20	22
Hope Enterprises, LLC (Sub) Subcontractor		
1	-	
By: X DANIEL GASQUET DJ 24		
Address: 100 Devereaux Drive, Natchez, MS 3	39120	
T		
Approved:	, 20	22
State Aid Engineer		
Approved:	, 20_	22

Project No. SAP-45(61) Bridge Replacement on Heindle Road Madison County, MS

Date : July 29, 2022

BREAKDOWN OF MOBILIZATION

Total Amount of Lump Sum Bid Item	\$25,000.00
Amount for Subcontractors : Hope Enterprises, LLC Franklin Paving, Inc. Lane Line, LLC	1,500.00 1,500.00 <u>5,500.00</u>
Thus, Amount for Fordice Construction Company	\$16,500.00

FORDICE CONSTRUCTION COMPANY

Hunter L. Fordice

President

Form (FAS-S.A.) SC-1	
(Submit 6 copies)	

Board of Supervisors	Request No.	Two (2)
Madison and Office of State Aid Road Co Mississippi Department of T	Project No. Date	SAP-45(61) August 16, 2022

Gentlemen:

I (we) (the prime contractor) (xstopophatic) propose to subcontract the following items to

Atwood Fence Company, Inc.

in accordance with Special Provisions in our contract governing subletting a portion of the contract. In the event of your disapproval of this subcontracting or of your disapproval of performance of such subcontractor at any time, I (we) agree to perform such item or items of work with my (our) own organization in full compliance with all applicable terms of our contract. I (we) understand that this procedure does not relieve us of any of the responsibility under our contract.

I certify that said party is particularly experienced and equipped for such work and that the attached subcontract is the sole agreement for the work and that all pertinent provisions and requirements of the contract have been explained to this proposed subcontractor, and that when applicable, federally required contract provisions are physically incorporated into the agreement furnished to the subcontractor.

The prices shown below are the prime contract unit prices:

Spec. Pay Item No.	Item	Quantity	Unit		Prime Cont. Unit Price	Amount
S-606-B	Guard Rail, W-Beam	275	Lin Ft	\$	30.00	\$ 8,250.00
S-606-D	Guard Rail, Bridge End Sect, Ty "I" Thrie Beam	4	Each	\$	3,650.00	\$ 14,600.00
S-606-E	Guard Rail, Terminal End Section	4	Each	\$	3,900.00	\$ 15,600.00
S-630-C	Reflect Traffic Object Marker (Type 3)	4	Each	_ \$ _	125.00	\$ 500.00
				\$		\$
				_ \$ _		\$
				_ \$ _		\$

)

I (we) hereby certify that the persons or firms are designated hereon as subcontractors with the knowledge and consent of the persons or firms named.

Date	rgest	16	, 20	22
	ICE CONSTRU	JCTION COMP	PANY	
	Prime Co	ntractor		
Ву:	EV.	, F	Presiden	t
Address:	P.O. Box 1101	Vicksburg, M	S 39181	
Approval recommende	ed:		, 20	22
	A	\sim		
	County E	ngineer		
Approved: Board of	Supervisors	Madison	C	ounty
(By order of	the Board, date	ed		
В	y			
		President		
Approval recommende	ed:		, 20	22
	Ctoto Aid Diat	int Francisco		

Total this Request	\$ 38,950.00		4.38	%
Previous Request	\$ 8,345.50	==	0.94	%
Total to Date	\$ 47,295.50	=	5.32	_%

I (we) hereby certify that the use of our names as subcontractors on the above items was, and is, with our knowledge and consent.

Date x 8/9	, 20_	22
Atwood Fence Company, Inc.		
(Sub) Subcontractor By: X Yay Alwood Van Mer Address: P.O. Box 565, Kosciusko, MS 390		V
Approved:	, 20_	22
State Aid Engineer		
Approved:	, 20	22

State Aid District Engineer

Form (FAS-S.A.) SC-1
(Submit 6 copies)

Board of Supervisors	Request No.	Three (3)
Madison County and	Project No.	SAP-45(61)
Office of State Aid Road Construction Mississippi Department of Transportation	Date Negus Z	16,2022

Gentlemen:

Det

I (we) (the prime contractor) (Issue propose to subcontract the following items to

Franklin Paving, Inc.

in accordance with Special Provisions in our contract governing subletting a portion of the contract. In the event of your disapproval of this subcontracting or of your disapproval of performance of such subcontractor at any time, I (we) agree to perform such item or items of work with my (our) own organization in full compliance with all applicable terms of our contract. I (we) understand that this procedure does not relieve us of any of the responsibility under our contract.

I certify that said party is particularly experienced and equipped for such work and that the attached subcontract is the sole agreement for the work and that all pertinent provisions and requirements of the contract have been explained to this proposed subcontractor, and that when applicable, federally required contract provisions are physically incorporated into the agreement furnished to the subcontractor.

The prices shown below are the prime contract unit prices:

Spec. Pay Item No.	Item	Quantity	Unit	Prime Cont. Unit Price	Amount
S-200-A	Mobilization	1	LS	\$ * 1,500.00	\$ 1,500.00
901-S-403-A	Hot Mix Asphalt Base Course (BB-1)	215	Ton	\$ 150.00	\$ 32,250.00
901-S-403-D	Hot Bit Pavement Surface Course (SC-1)(Ty 8)	206	Ton	\$ 200.00	\$ 41,200.00
				\$ 	\$
				\$ 	\$
				\$	\$
				\$ 	\$

* Only that portion subbed to subcontractor. See attached breakdown of Mobilization.

~~

I (we) hereby certify that the persons or firms are designated hereon as subcontractors with the knowledge and consent of the persons or firms named. 1. 1 11

Date	NUGSI GOI	0	, 20	22
	FORDICE CONSTRUCT	ON COMP	ANY	
	Prime Contrac			
Ву:	AUV	, Pi	residen	t
Address:	P.O. Box 1101, Vio	cksburg, MS	39181	
Approval rec	ommended:		, 20	22
	County Engine	eer		
Approved:	Board of Supervisors	Madison	C	ounty
(By d	order of the Board, dated			
	Ву			
		President		
Approval rec	ommended:		, 20	22
	04-4- A14 PS-42-4 P			

Total this Request..... \$ 74,950.00 8.43 % Previous Request..... \$ 47,295.50 5.32 % Total to Date..... \$ 122,245.50 Ξ 13.75 %

I (we) hereby certify that the use of our names as subcontractors on the above items was, and is, with our knowledge and consent. Λ

Date X HM	gust 1,	, 20_22
	Franklin Paving, Inc.	
0	(Sub) Subcontractor	
ву: Х.И	Tranklin I	~
Address:	P.O. Box 59209, Jackson, M	S 39284
Approved:	1001	, 20_22
	State Aid Engineer	

Approved:

State Aid District Engineer

Project No. SAP-45(61) Bridge Replacement on Heindle Road Madison County, MS

Date : July 29, 2022

BREAKDOWN OF MOBILIZATION

Total Amount of Lump Sum Bid Item	\$25,000.00
Amount for Subcontractors : Hope Enterprises, LLC Franklin Paving, Inc. Lane Line, LLC	1,500.00 1,500.00 5,500.00
Thus, Amount for Fordice Construction Company	\$16,500.00

FORDICE CONSTRUCTION COMPANY

Hunter L. Fordice

President

Form (FAS-S.A.) SC-1 (Submit 6 copies)

Board of Supervisors	Request No.	Four (4)
Madison County and Office of State Aid Road Construction	Project No. Date <u>August</u>	SAP-45(61) 16, 2022
Mississippi Department of Transportation		

Gentiemen:

I (we) (the prime contractor) (scale) propose to subcontract the following items to

Lane Line, LLC

in accordance with Special Provisions in our contract governing subletting a portion of the contract. In the event of your disapproval of this subcontracting or of your disapproval of performance of such subcontractor at any time, I (we) agree to perform such item or items of work with my (our) own organization in full compliance with all applicable terms of our contract. I (we) understand that this procedure does not relieve us of any of the responsibility under our contract.

I certify that said party is particularly experienced and equipped for such work and that the attached subcontract is the sole agreement for the work and that all pertinent provisions and requirements of the contract have been explained to this proposed subcontractor, and that when applicable, federally required contract provisions are physically incorporated into the agreement furnished to the subcontractor.

The prices shown below are the prime contract unit prices:

Spec. Pay Item No.	Item	Quantity	Unit	Prime Cont. Unit Price	Amount
S-200-A	Mobilization	1	LS	\$ * 5,500.00	\$ 5,500.00
S-621-C	4" Thermo Edge Stripe (Cont White)(60 mils)	0.269	Mile	\$ 10,000.00	\$ 2,690.00
S-621-E-1	4" Thermo Traffic Stripe (Cont Yellow)(90 mils)	1,420	Lin Ft	\$ 2.00	\$ 2,840.00
S-627-L	2-Way Yellow Refl High Perform Raised Mkr	9	Each	\$ 55.00	\$ 495.00
				\$ 	\$
				\$ 	\$
				\$ 	\$

* Only that portion subbed to subcontractor. See attached breakdown of Mobilization.

)

I (we) hereby certify that the persons or firms are designated hereon as subcontractors with the knowledge and consent of the persons or firms named.

Date August 16	, 20 22					
	FORDICE CONSTRUCTION COMPANY					
Prime Contrac	for					
By: 107. 1	, President					
Address: P.O. Box 1101, Vic	cksburg, MS 39181					
Approval recommended:	, 20 22					
G	2					
County Engine	eer					
Approved: Board of Supervisors	Madison County					
(By order of the Board, dated						
Ву						
	President					
Approval recommended:	, 20 22					

Total this Request	\$ 11,525.00		1.30	_ %
Previous Request	\$ 122,245.50	=	13.75	_%
Total to Date	\$ 133,770.50	=	15.05	%

I (we) hereby certify that the use of our names as subcontractors on the above items was, and is, with our knowledge and consent.

Date	812	, 20_22
	Lane Line, LLC	<u>(</u>
By: X Reep	(Sub) Subcontractor	6_
	ood Drive, Suite L,	Flowood, MS 39232
Approved:		, 20_22
	State Aid Engineer	
	otato y la Engineer	
Approved:		, 20_22

State Aid District Engineer

Project No. SAP-45(61) Bridge Replacement on Heindle Road Madison County, MS

Date : July 29, 2022

BREAKDOWN OF MOBILIZATION

Total Amount of Lump Sum Bid Item			\$25,000.00
Amount for Subcontractors :	Hope Enterprises, LLC Franklin Paving, Inc. Lane Line, LLC		1,500.00 1,500.00 5,500.00
Thus, Amount for Fordice Construction Company			\$16,500.00

FORDICE CONSTRUCTION COMPANY

Hunter L. Fordice President

Form (FAS-S.A.) SC-1
(Submit 6 copies)

 Board of Supervisors
 Request No.
 Five (5)

 Madison
 County
 Project No.
 SAP-45(61)

 and
 Office of State Aid Road Construction
 Date
 August 16, 2022

 Mississippi Department of Transportation
 Date
 August 16, 2022

Gentlemen:

4

Traffic Control Products Company, Inc.

in accordance with Special Provisions in our contract governing subletting a portion of the contract. In the event of your disapproval of this subcontracting or of your disapproval of performance of such subcontractor at any time, I (we) agree to perform such item or items of work with my (our) own organization in full compliance with all applicable terms of our contract. I (we) understand that this procedure does not relieve us of any of the responsibility under our contract.

I certify that said party is particularly experienced and equipped for such work and that the attached subcontract is the sole agreement for the work and that all pertinent provisions and requirements of the contract have been explained to this proposed subcontractor, and that when applicable, federally required contract provisions are physically incorporated into the agreement furnished to the subcontractor.

The prices shown below are the prime contract unit prices:

Spec. Pay Item No.	Item	Quantity	Unit	Prime Cont. Unit Price	Amount
S-618-A	Maintenance of Traffic (Installed Sale Only)	1	LS	\$ * 9,870.00	\$ 9,870.00
				\$	\$
				\$	\$
				\$	\$
				\$	\$ ×
				\$ 	\$
				\$	\$
			and hits warmen and the first state		

* Only that portion subbed to subcontractor. See attached breakdown of Maintenance of Traffic.

)

I (we) hereby certify that the persons or firms are designated hereon as subcontractors with the knowledge and consent of the persons or firms named.

Date August h	, 20 22					
FORDICE CONSTRUCTION COMPANY						
Prime C	Contractor					
By:	, President					
Address: P.O. Box 110	1, Vicksburg, MS 39181					
Approval recommended:	, 20 22					
Gillinguarenter	**					
County Engineer						
Approved: Board of Supervisors	MadisonCounty					
(By order of the Board, dated						
Ву						
	President					
Approval recommended:	, 202					

Total this Request	\$ 9,870.00	=	1.11	_ %
Previous Request	\$ 133,770.50	=	15.05	_ %
Total to Date	\$ 143,640.50	=	16.16	_ %

I (we) hereby certify that the use of our names as subcontractors on the above items was, and is, with our knowledge and consent.

Date X	August 1	, 20_22				
Tra	ffic Control Products Co	mpany, Inc.				
(2)	(Sub) Subcontractor	r				
By: xtle	MyRED	Uper				
Address:	P.Q. Box 820, Brand	on, MS 39043				
Approved:		, 20_22				
State Aid Engineer						
Approved:		, 20 22				

State Aid District Engineer

Project No. SAP-45(61) Bridge Replacement on Heindle Road Madison County, MS

Date : July 29, 2022

10

BREAKDOWN OF MAINTENANCE OF TRAFFIC

Total Amount of Lump Sum Bid Item	\$12,500.00
Amount for Subcontractors : Traffic Control Products Company, Inc.	9,870.00
Thus, Amount for Fordice Construction Company	\$ 2,630.00

FORDICE CONSTRUCTION COMPANY

Hunter L. Fordice President